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#include <stdio.h>

int main ()

{

BEE ERIFFICEH# T
EIHFHHEKDS

int i,j,result = 0;

i )
JOSSLIEETEAE

#F. 5 TES
RNEEICIFEAREDLE
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. RYHARE

i=1; KA
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2: EMIELXA

A LWo=AEZRALTHERAT S

7 4

result = 1 3 .

3: 51T HE

printf ("$d\n" , result) ;

A

4:-$ERDIFRR

return 0;

/home/course/prog0/public_html/2016/lec/source/lec02-1.c
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#include <stdio.h>

int sum(int *a, int *b, int *c){
intv,
vV =*a+*b;
C=v,

return O;

}

main(){
int va=10, vb=20, vc, rt;

rt = sum(&va, &vb, &vc);
}
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| printf("ddn", result) ; esRoRT
return 0;
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#include <stdic.h>

1100 _sum_2.c e

int iy Jy ow hi
int in[347]0475), ot (34704750, i, iz

/i Wrddd
scanf ("EsEd¥d”, e1. &m. 8R):
w . fur(ifLrl: -\<.3l7: \Nzi
2100 _decoration.c ERREIC S

ez
for(i =0z i <347 ¢ ien){
forli = 03§ €475 3 i+l
ifGnCid0d » 0l
out[idlid = 05
Jelsel
out[il0i] =1

6300_array2_img.c .
6300_array2_img, txt http://localhost:7788/examples/6300_array2_img
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